For

v1y 401d]

2£:62°80 1202°€0¢0

. AL
0 -

Filnavn: 0:\

\3 7 Teaninger\Plandata\2d\tegning\C-teap\lAY (Cdwg

Xref;

I geom cdwg

T Tegpnforklaringdwg

|nnmalinger.dwg

Grunnkart oppda

tertd

ol

X6543200

\ 4
\ 1002/346

N\

°
+,
°

Y -

o

10021649

N
% AN
AN
e A
NN
NS
NS
W\ %

5H ONIYYIL

aN
)

"H 1140dd

25,63

AN e
RACHERE

TIVAdHd3AL

"ALN3Ad344

"AINHEOH

— "1'NOAGdIAO

2558

25,60

2561

25,56

25,62

25,51

25,54

25,414

2546

2536

25,29

25,26

25,12

2517

25,04

25,08

25,07

2L 99

=
e
-~
=

1002/

2L.93

24,90

26,82

2579

2L 63

2467

24,49

24,55

2440

24 43

24,28

2L 30

O = ¢

24,05

24,16

23,96

23,99

23,75

23,79

23,58

23,58

23,31

23,34

23,09

23,09

22,91

22,82

22,61

22,52

22,32

22,21

21,98

21,89

21,74

2158

21,32

21,26

21,01

20,94

20,79

20,63

D]0YS 1D JUOSIIOY

0¢

L

005

0%

09

I9A Lapalsold
neyoj uapalsoid

Plisu4
aluiusiuag

asuaibswopualg
asualbjjesied

uajjepowban ed uaeuslui

[
2.
®
o2}
o
=}
=}
=]

P

1001/40

Pdojuba |

Bulie

Wbisy 000ZNN ‘(I-N) NZ€ suoz W1N / 68SH1T

“Ju Buiube |

1M8ELLY

“usbeipddo

SLE - ' T1140dd 00009 IMNIT
ONIND311140dd B0 -NVd

Aoy

NV 1404

oleq

NV 1404 'NIIFANQOD

ANAWWOM MIAGV T

Jopelb usbuuspinay

1001/61

snieis

L2'€0°20

1)

ASY
angnNyv

oleq

be4
Ae joubs |
N

[3A

Nvd
“JJuUOYSUUBWSPIS

v1y

‘gsies

00L:L

MM0IS8I_IN

Nva
Biueasuesbeipddp

Nvd
Jo|puBYSqSYES

‘eupddo | Ywapis

005:

/ / o,

. 1001/

1001/67

10

Y561800

yai
v

20,47

20,31

20,20

20,00

19,83

19,67

19,42

19.33

19,12

18,97

18,71

18,60

18,25

18,24

1001/74'

17,99

17,88

17,67

17,52

17,13

17,15

16,79

16,79

i ARe

16,46

16,43

16,02

16,07

15,73

15,75

15,39

15,47

15,09

15,24

i

(@0

15,04

14,73

1L 85

14,56

1467

14,25

14,50

1001/71

14,22

14,36

0lL=d

14,17

14,24

14,08

14,15

14,00

14,07

14,00

13,99

13,93

13,90

0O =¢

13,87

13,82

13,64

13.73

13,46

13,64

13,54

13,56

13,47

00} =4

13,19

13,38

13,17

13,29

13,00

13,21

13,00

13,12

13,00

13,03

0O =¢

() "¥N 7140¥d

0¢

G¢

H O H

7% 850

e )

929'5q = H
000'q dd
iy
8

09567 = H
SL87L dd

S¢

Y (8-

05

8

é

—\
N
(-]
(-]

%

%

SL

00l

00

SCL

05l

SLL

N

00¢

864Gl = H
058'L17 ¥d

601

Sy

o&%g\\

R=00

R=1000

05¢

SLe

00&

8

LMl = H
L7967 dd

4

€57

S~

O~

AT g0

8=

v
7z

T+
071'L9¢ ¥d

12,94

12,93

12,72

12,79

12,55

12,62

12,22

12,62

12,00

12,18

001-=d

11,90

11,92

11,57

11,65

11,18

11,38

11,07

11,1

10,80

10,84

To L=

=80

0S¢

= H

68L°CL
G76'8€€ ¥d

g

%@E&

SLE

0*7§\




